“:ﬁ %%% w Y Phép cong Ién dén 1000 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
112 + 156 = 905 +421 =
897 + 848 = 40 +918 =
232+ 53 = 795+ 183 =
424 +917 = 470 + 4 =
194 + 410 = 232 + 801 =
55+355= 289 + 729 =
327+313 = 917 4+ 98 =
241 + 475 = 609 + 583 =
681 + 362 = 561 +462 =
337+ 188 = 850 + 189 =
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ﬂ E %%% % Y Phép cong Ién dén 1000 (hang ngang)

Tén:__ Ngaythang: _ Piém:____
112 + 156 = 268 905 + 421 = 1326
897 + 848 = 1745 40+ 918 = 958
232+ 53 =285 795 + 183 = 978
424 + 917 = 1341 470 + 4 = 474
194 + 410 = 604 232 + 801 = 1033
55+355=410 289 + 729 = 1018
327+ 313 = 640 917 +98 = 1015
241 +475=1716 609 + 583 = 1192
681 + 362 = 1043 561 + 462 = 1023
337+ 188 = 525 850 + 189 = 1039
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